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=B (pH1.2 1238\ TIX 120 4y, pH4.0 (2
BUWTIL 360 4y) ICHBWT, RERIAI DO - H R
I TAEVERLA) DO SELER R £9 %OHEIPAIC H o 72,
pH6.8 (4#4y 50 [Alfiz, 0.01%7K YV /L<— | 80
W) ORIV T, FEHERE| O R R
23 40 %M VY 85 %fir & 72 i X 72 2 il (30 43 &
V180 47) 123\ T, AREBRBLAN D -y va H 58 A e
FIF| O ER R 15 %O FPHICH > 72,

pH6.8 (f#4y 100 [Hfi5, 0.01%7K VU Y /L~<— | 80
W) OBV T, HEHERE| O R R
DS 40 %K TN 85 %L & 72 D 24 72 2 MR (30 29 %
360 77) (Za\W\N T, BRER LA DS H R R
TR ORI R £ 15% DFPHI B - 7=,
LEDFREREIY . BT H 4 8 4mg [TCKY
AR HERIA O PA R & bl U=, 2 TR
HRBR S IR W TRISEHRBR AT A N7 A > OWEH
ZEOFARIME O E RIS LTz,

BB FHEHE (%)

TR (4)) 5 10 15 30 45 60 90 120
FER LA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FEHERL A 0.0 0.0 0.0 0.3 0.3 0.3 0.1 0.3

Table 2 pH4.0 (&%) 50 [Fl#ix, R EmiEMEAIIERI) 2B 2 FEEHE (%)

TR (4)) 5 10 15 30 45 60 90 120 180 240 300 360
AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
eI A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Table 3 pH6.8 (f&4) 50 [Fl#ix, R EmiEMEAIIERI) 2B 2 FHEHE (%)

R (4)) 5 10 15 30 45 60 90 120 180 240 300 360
AR 0.0 0.1 0.8 2.7 4.3 4.7 5.3 6.1 6.3 6.4 6.4 6.1
A2 Y L) 0.0 0.5 1.3 4.1 4.8 5.7 6.2 6.5 6.9 7.3 7.4 7.5

Table 4 7K (fF4y 50 [BIEEA miE AR (28T 5 PR HE (%)

R (4)) 5 10 15 30 45 60 90 120 180 240 300 360
BRI 0.0 0.0 0.0 0.5 0.6 0.7 0.7 0.9 0.7 0.8 0.7 0.8
FEE Y L) 0.0 0.0 0.7 0.9 1.1 1.0 1.0 1.0 0.8 0.8 0.6 0.6

Table 5 pH1.2 (fF4) 50 [Al#5, 0.01%74K Y Y Lx— k 80 i) (28I 5 FHIRHE (%)

TEHRFR (4)) 5 10 15 30 45 60 90 120
R LA 0.0 0.4 0.8 2.0 3.8 4.5 5.3 5.4
FEE Y L) 0.0 1.0 3.3 5.9 7.0 7.4 7.4 7.5

1




Table 6 pH4.0 (54 50 [Al#5, 0.01%7AK Y Y L~xX— K 80 IR (28T 5 FHEIRHFE (%)

R (4)) 5 10 15 30 45 60 90 120 180 240 300 360
AR LA 0.0 0.3 0.8 1.2 1.9 2.9 4.0 4.6 5.0 5.3 5.6 5.9
HEE Y L) 0.1 1.0 2.2 5.3 6.1 6.3 6.7 6.7 6.9 7.0 6.9 7.2

Table 7 pH6.8 (%) 50 [Al#5, 0.01%7AK Y Y L~x— K 80 IR (28T 5 FHEIRHFE (%)

R (4)) 5 10 15 30 45 60 90 120 180 240 300 360
AR LA 1.4 7.6 15.8 35.7 47.4 54.0 63.6 70.2 77.3 81.8 85.2 88.2
FEE Y L) 4.1 11.8 20.5 43.2 57.5 65.3 74.3 78.8 84.5 87.0 88.1 89.6

Table 8 pH6.8 (%) 100 [H#E, 0.01%AK Y Y /L_— K 80 #hN) 21T 5 FHERHER (%)

FRHEER () 5 10 15 30 45 60 90 120 180 240 300 360
FRER AL 4.3 12.9 22.7 41.7 51.9 59.1 67.2 72.5 78.7 81.7 84.0 86.6
F2E Y L) 3.6 13.3 24.1 47.1 58.5 64.7 72.2 77.0 81.0 84.2 84.4 85.2
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Fig5  pH1.2 (% 50 [Alfi5, 0.01%7K YU Y /L~_— Fig6  pH4.0 (fH% 50 [FlfiE, 0.01%7K UV /L~_—
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